
 

STRANA 1/ 20 

 

Environmental 

Product Declaration 
In accordance with ISO 14025:2006 and EN 15804:2012+A2:2019/AC:2021 for: 

 

Thick rolled plate 
Product including any heat treatment. 

from 

VÍTKOVICE STEEL, a. s. 

 
 

Programme: "National Environmental Labeling Program" - Czech Republic (NPEZ) 

Programme operator: Ministry of the Environment of the Czech Republic 

EPD registration number: 7250009 

Publication date: 2025-09-18 

Valid until: 2030-09-17 

 An EPD should provide current information and may be updated if conditions change.  



 

 

 2/ 20 

General information 
Programme information 

Programme: "National Environmental Labeling Program" - Czech Republic (NPEZ) 

Address: 

Ministry of the Environment of the Czech Republic 

Department of Voluntary Instruments 

100 10 Praha 10, Vršovická 1442/65 

Website: www.mzp.cz, www.cenia.cz 

E-mail: info@mzp.cz 

 

Accountabilities for PCR, LCA and independent, third-party verification 

Product Category Rules (PCR) 

CEN standard EN 15804 serves as the Core Product Category Rules (PCR) 

Product Category Rules (PCR): EN 15804:2012+A2:2019/AC:2021 

Life Cycle Assessment (LCA) 

LCA accountability: Technický a zkušební ústav stavební Praha, s.p. – branch Plzeń 

Procedure for follow-up of data during EPD validity involves third party verifier: 
 

☐Ano  ☒ne 

 

The EPD owner has the sole ownership, liability, and responsibility for the EPD. 
 

EPDs within the same product category but registered in different EPD programmes, or not compliant with EN 

15804, may not be comparable. For two EPDs to be comparable, they must be based on the same PCR 

(including the same version number) or be based on fully-aligned PCRs or versions of PCRs; cover products 

with identical functions, technical performances and use (e.g. identical declared/functional units); have 

equivalent system boundaries and descriptions of data; apply equivalent data quality requirements, methods 

of data collection, and allocation methods; apply identical cut-off rules and impact assessment methods 

(including the same version of characterisation factors); have equivalent content declarations; and be valid at 

the time of comparison. For further information about comparability, see EN 15804 and ISO 14025. 

 

  

http://www.mzp.cz/
http://www.cenia.cz/


 

 

 3/ 20 

Company information 

Owner of the EPD: VÍTKOVICE STEEL, a. s. 
Českobratrská 3321/46, 702 00 Ostrava - Moravská Ostrava, CZ 

IČO: 27801454 

Contact:  

Gabriela Dylová. gabriela.dylova@vitkovicesteel.com, +420 736 132 844 

 

Description of the organisation:  

VÍTKOVICE STEEL a.s. is a leading European manufacturer of rolled steel products and the largest 

producer of steel sheets in the Czech Republic. The main production program consists of thick sheets, 

shaped blanks and sheet piles. 

The company is the only manufacturer of so-called sheet piles in the Czech Republic and one of two 

manufacturers in the European Union. In the production of thick sheets, it benefits from a strong market 

share in the key domestic market. Product quality control according to ISO 17025 is carried out in its own 

accredited testing laboratories, which have state-of-the-art testing equipment that meets the highest 

standards 

Since 2025, VÍTKOVICE STEEL, a.s. has become a member of the strong industrial group Jindal Steel 

International, which is moving towards green steel. 

Product-related or management system-related certifications:  

The quality of the products is ensured by an effective quality management system according to EN ISO 

9001 and is in accordance with the technical regulations relating to the type of product. The manufacturer 

has implemented and certified the environmental management system EN ISO 14001 and the 

occupational health and safety management system ISO 45001 and the energy management system ISO 

50001 by the certification company TÜV NORD CERT GmbH. 

In accordance with EU Regulation 305/2011 on the placing on the market of construction products with 

the CE marking, a Declaration of Performance is issued for sheets manufactured according to standards 

EN 10025-2,-3,-4,-5 which are in accordance with the harmonized standard EN 10025-1 and for sheets 

according to EN 10343, which declares that the properties of the product are in accordance with the 

relevant harmonized technical specifications (hEN). The conformity assessment is carried out by the 

authorized body TÜV NORD Czech s.r.o. 

The company also holds other product certificates issued by inspection bodies and certification bodies 

DNV LR, Deutsche Bahn HPQ (DBS 918 002-02) - certification for railway transport; certification 

documents for pressure equipment according to the Directive of the European Parliament and of the 

Council PED 2014/68/EU and the document AD 2000-Merkblatt W1/W10; also certification documents 

according to Bauregelliste A, part 1 for demonstrating product conformity for construction purposes and 

certification for the Great Britain market (UKCA, PESR). 

Product quality documents according to EN 10204: 

The quality management department issues the relevant inspection document (inspection certificate) with 

the chemical composition of the melt and the results of the material tests performed (e.g. ultrasound, 

mechanical tests) in accordance with the order: 

- Test report “2.2” 

- Inspection certificate “3.1” 

- Inspection certificate “3.2” 

Name and location of production site(s): 

VÍTKOVICE STEEL, a. s. 

Českobratrská 3321/46, 702 00 Ostrava - Moravská Ostrava, CZ 

 

Product information 

Product name:  Thick rolled plate 
Product identification:  

Product including any heat treatment. 

 

 

mailto:gabriela.dylova@vitkovicesteel.com


 

 

 4/ 20 

Product description:  

The sheets are made from continuously cast slabs. The sheet range is rolled in thicknesses of 5 - 150 

mm (200 mm) and widths of 1000 - 3200 mm. 

Condition of delivered sheets (heat treatment): 

AR – after rolling (without heat treatment) 

N – normalizing 

NT – normalizing and tempering 

A – soft annealing 

M (TMCP) – thermomechanical rolling 

 

 

 

 

 

 

 

 

 

 

STEEL SHEETS ACCORDING TO EN 10025-2 WITH “CE” MARKING 

The most commonly used structural steels with a minimum yield strength of 235 MPa and guaranteed 

weldability, used for light steel structures of bridges, halls, parts of rail and motor vehicles, etc. 

FINE-GRAIN STEEL SHEETS ACCORDING TO EN 10025-3 WITH “CE” MARKING 

Structural steels with a guaranteed fine-grained structure and low carbon equivalent. Due to the 

minimum yield strength of up to 460 MPa and guaranteed impact work at a temperature of -50 °C, these 

steels are suitable for more demanding steel structures and their load-bearing elements. They are also 

suitable for railway and motor vehicle structures. 

THERMO-MECHANICALLY ROLLED FINE-GRAIN STEEL SHEETS ACCORDING TO EN 10025-4 

WITH "CE" MARKING 

Thermo-mechanically rolled sheets of structural steel with low carbon equivalent and thus excellent 

weldability. They are used for more demanding steel structures and their load-bearing elements. Impact 

work is guaranteed even at temperatures of -50 °C, which allows for a wide range of applications. 

STRUCTURAL STEEL SHEETS WITH INCREASED RESISTANCE TO ATMOSPHERIC 

CORROSION (ATMOFIX) 

Unlike conventional steels, structural steel sheets with increased resistance to atmospheric corrosion 

do not require expensive surface treatments (coatings). They are characterized by increased resistance 

to the effects of an atmosphere containing sulfur. Their key application is in the field of bridge 

construction and building, but they can also be used for the construction of chimneys and flues. 

THERMOMECHANICALLY ROLLED STEEL SHEETS ACCORDING TO EN 10149-2 

The classic methods of processing these sheets are bending, flanging, profiling, etc. Upon agreement, 

the sheets can be delivered in a condition suitable for hot-dip galvanizing. They are excellently weldable 

due to their low carbon equivalent. 

NORMALIZED STEEL SHEETS ACCORDING TO EN 10149-3 

The sheets are technologically processed to ensure their suitability for cold forming. The classic methods 

of processing these sheets are bending, flanging, profiling, etc. Upon agreement, the sheets can be 

delivered in a condition suitable for hot-dip galvanizing. 

Detailed information on individual products is available at https://www.vitkovicesteel.com/plechy/.. 

Product technical data 

Informative basic properties of supplied thick sheets) 

Length (max.)  16,000 mm 

Width  1000 – 3 200 mm 

Thickness  5 – 150 (200) mm 



 

 

 5/ 20 

Weight (max.)  15,000 kg 

a) All dimensions given are approximate; actual sheet dimensions depend on the combination of 

length, width and thickness as well as the material specification; for specific information please 

contact VÍTKOVICE STEEL, a. s. 

b) Longer lengths up to 21,000 mm upon agreement 

c) Longer thicknesses up to 200 mm upon agreement 

Use: 

• steel and bridge structures 

• ships 

• transport machinery and vehicles 

• abrasion-resistant sheets 

• pressure vessels used at normal and elevated temperatures 

• special military equipment 

• sheets resistant to atmospheric corrosion 

• shaped blanks 

• pipelines 

• offshore structures 

 

UN CPC code:  

41211 Flat-rolled products of non-alloy steel, not further worked than hot-rolled, of a width of 600 mm 

or more. 

 

Geographical scope:  

The generic data used from the Ecoinvent database are used with validity for the Czech Republic (e.g. 

energy inputs) and in the event that data for the Czech Republic are not available, data valid for the EU 

or according to the location of the supplier are used. Based on the evaluation according to EN 

15804+A2, Annex E, tab. E.1 the generic data used meet the quality level - medium. 

Product packaging: 

The products are delivered in accordance with the standards indicated in the product description. The 

majority of products are stored on pallets with spacers for transport. 

Environment and health during use 

During the entire production process, it is not necessary to take any special health protection measures 

beyond the legally specified industrial protection measures for production employees. 

 

  



 

 

 6/ 20 

.

LCA information 

Functional unit / declared unit:  

The declared unit is 1 t of the average manufactured product – Thick rolled 

plate. 

Product including any heat treatment. 

Designation Unit Value 

Declared unit t 1 

Conversion factor to 1 kg kg 1000 
 

Reference service life:  

The reference service life of the elements is also not declared due to the unavailability of representative 

data on operating conditions during the product's use phase. 

Time representativeness:  

For specific data, the manufacturer's data for the year 2024 is used. For generic data, data from the 

Ecoinvent database version 3.11 is used. Based on the evaluation according to EN 15804+A2, Annex 

E, tab. E.1 the generic data used meet the quality level - very good. 

Database(s) and LCA software used:  

SimaPro Craft calculation software, version 10.2, Ecoinvent database version 3.11. 

GWP-GHG from electricity production: 0.526 kg CO2 eq/kWh (CZ residual mix). 

Description of system boundaries:  

“Cradle to gate with options, modules C1–C4, module D and with optional modules”  

The production phase includes the following modules: 

• A1 - extraction and processing of raw materials and production of packaging from input 

raw materials 

• A2 - transport of input raw materials from the supplier to the manufacturer, waste removal 

• A3 - production of products, production of auxiliary materials and semi-finished products, 

energy consumption, including waste processing until reaching a state where it ceases to be 

waste or after removal of the last material residues during the production phase. 

Results A1-A3 include a “compensation report” of biogenic CO2 from packaging released in 

module A5, as module A5 is not fully included. 

The construction phase includes the following modules: 

• A4 - transport to the construction site. Transport is carried out by truck with a capacity of 

16 - 32 t (EURO 6). Transport of the declared product unit over a distance of 1 km is 

considered. 

The end-of-life phase includes modules: 

• C1, deconstruction, demolition; of a product from a building including its dismantling or 

demolition, including the initial sorting of materials at the construction site. The decomposition 

and/or dismantling of the product is part of the deconstruction of the building. In this case, it is 

assumed that the total energy required for dismantling is 78.45 MJ (for 1 DJ). 

• C2, transport to the waste processing site; transport of the discarded product as part of waste 

processing, e.g. to a recycling site, and transport of waste, e.g. to a final disposal site. 

Transport from the dismantled building is carried out by a truck with a load capacity of 16-32 t 

(EURO 6) to an inert material landfill as a mixed building demolition or to a recycling center, 

the estimated transport distance according to calculations is 25 km. 

• C3, waste treatment for reuse, recovery and/or recycling; e.g. collection of waste fractions 

from deconstruction, and treatment of waste from material streams intended for reuse (0%), 

recycling (100% of the product) and energy recovery (wooden interlayers from packaging). 

The burdens from sorting and the necessary treatment for further use are included. This 



 

 

 7/ 20 

includes treatment by crushing wood from interlayers, flue gases from energy recovery. The 

burdens associated with the disposal of product packaging components are also included 

here. 

• C4, waste disposal including pre-treatment and site management. Landfilling of the product or 

packaging is not considered. 

Benefits and costs beyond the product system boundary are presented in module D. 

Module D includes: 

• D, potential for reuse, recovery and/or recycling, expressed in net impacts or benefits. In the 

module D scenario, the saving of primary raw material inputs (pig iron production, excluding 

transport and energy) in another product system is taken into account. Benefits from energy 

recovery (wood, EEE, EET) are considered.  

 

Production: 

The products are made from imported steel billets called slabs; the manufacturer Vítkovice Steel does 

not add any other components to the product. After preheating, the slabs enter the rolling mill, where 

sheets with a thickness of 5-100 mm (200 mm) and a width of 1000-3200 mm are rolled in several 

passes. 

System diagram:  

 
 

More information: 

Information module A5 from the construction phase was not included in the LCA due to the difficult 

availability of input data and is therefore not declared. 

Information modules from the use phase B1 to B7 are also not declared, as these types of products, 

assuming correct use, do not require maintenance, repair or replacement during the normal life time in 

the use phase. They also do not require energy or water consumption during the use phase. 

For the study, all operational data related to the consumption of main and auxiliary materials for the 

production of the product, energy data, diesel consumption and the distribution of annual waste 

production and emissions according to plant records were taken. In terms of produced waste, only those 

wastes that are clearly related to production activities were included in the analysis. 

The processes required for the installation of production equipment and the construction of infrastructure 

were not included in the analysis. Also, administrative processes are not included – inputs and outputs 

are balanced per production phase.  

 

 

  

] 
Slab 

warehouse 
Preheating 

process 
Rolling mills 

Product 
warehouse 



 

 

 8/ 20 

Modules declared, geographical scope, share of specific data (in GWP-GHG results) 

and data variation (in GWP-GHG results):: 

 

Product stage 
Construction 

process 
stage 

Use stage End of life stage 

 

Resource 
recovery 

stage 

 R
a
w

 m
a
te

ri
a
l 
s
u

p
p

ly
 

T
ra

n
s
p
o
rt

 

M
a
n
u

fa
c
tu

ri
n
g

 

T
ra

n
s
p
o
rt

 

C
o
n
s
tr

u
c
ti
o
n
 i
n
s
ta

lla
ti
o

n
 

U
s
e
 

M
a
in

te
n

a
n
c
e

 

R
e
p
a

ir
 

R
e
p
la

c
e
m

e
n
t 

R
e
fu

rb
is

h
m

e
n
t 

O
p
e
ra

ti
o
n
a

l 
e

n
e
rg

y
 u

s
e

 

O
p
e
ra

ti
o
n
a

l 
w

a
te

r 
u
s
e

 

D
e
-c

o
n
s
tr

u
c
ti
o

n
 d

e
m

o
lit

io
n

 

T
ra

n
s
p
o
rt

 

W
a
s
te

 p
ro

c
e
s
s
in

g
 

D
is

p
o
s
a

l 

 

R
e
u
s
e
-R

e
c
o
v
e
ry

-R
e
c
y
c
lin

g
-

p
o
te

n
ti
a
l 

 

 

 

Module A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4  D 

Modules 
declared x x x x ND ND ND ND ND ND ND ND x x x x  x 

Geography GLO 
GLO, 
EU 

EU, 
CZ 

EU         EU EU EU EU  GLO, EU 

Specific 
data used > 95 %   - - - - - - - - - - -  - 

Variation – 
products < 10 %   - - - - - - - - - - -  - 

Variation – 
sites 0 %   - - - - - - - - - - -  - 

The data used to calculate the EPD conforms to the following principles: 

Technological point of view: Data corresponding to the current production of individual types of partial 

products of the plant and corresponding to the current state of the technologies used are used. 

Based on the evaluation according to EN 15804+A2, Annex E, tab. E.1 the generic data used meet the 

quality level - very good. 

The aspect of completeness and completeness: Most of the input data is based on consumption 

balances, which are precisely recorded in the manufacturer's information system. The reliability of the 

source of specific data is determined by the uniformity of the collection methodology of the information 

system. 

Consistency point of view: Uniform points of view are used throughout the report (allocation rules, age 

of data, technological scope of validity, temporal scope of validity, geographical scope of validity). 

Credibility aspect: All important data were checked for adherence to cross-comparison of mass 

balances. 

The GWP-GHG variability between the sub-products included (see Product Description) is less than 

10%. Production takes place at only one production site. 

The estimated impact results are only relative statements, which do not indicate the endpoints of the 

impact categories, exceeding threshold values, safety margins and/or risks. 

 

  



 

 

 9/ 20 

Content information 

Product components Weight % 
Post-consumer material, 

weight-% 
Biogenic carbon 

content in kg C/DU 

Steel slabs 100,0 15 0 

TOTAL 100 0 0 

Packaging materials Weight % 
Weight-% (versus the 

product) 
Biogenic carbon 

content in kg C/DU 

Plastic 18,5 0,07 0 

Steel elements 65,6 0,24 0 

Wooden inserts 15,8 0,06 2,55E-03 

TOTAL 100 0,36 2,55E-03 

 

Dangerous substances 
from the candidate list of 
SVHC for Authorisation 

EC No. CAS No. 
Weight-% per functional or 
declared unit (DU) 

They are not - - - 

 

Substances listed on the list of substances of very high concern subject to authorization by the European 

Chemicals Agency are not contained in the product in declarable quantities. 

 

 

  



 

 

 10/ 20 

Results of the environmental performance indicators 
Mandatory impact category indicators according to EN 15804:2012+A2:2019/AC:2021 (characterisation factors based on EF 3.1 package) 

Results per functional or declared unit 

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

GWP-fosil kg CO 2 ekv. 2,32E+03 1,87E-01 ND ND ND ND ND ND ND ND 7,90E+00 4,67E+00 6,48E+01 0,00E+00 -1,77E+03 

GWP-biogenic kg CO 2 ekv. 1,74E+00 1,30E-04 ND ND ND ND ND ND ND ND 1,60E-03 3,24E-03 4,03E-02 0,00E+00 -6,74E+00 

GWP- luluc kg CO 2 ekv. 1,05E+00 6,28E-05 ND ND ND ND ND ND ND ND 8,08E-04 1,57E-03 6,74E-03 0,00E+00 -3,91E-01 

GWP - total kg CO 2 ekv. 2,32E+03 1,87E-01 ND ND ND ND ND ND ND ND 7,90E+00 4,67E+00 6,48E+01 0,00E+00 -1,76E+03 

ODP kg CFC 11 ekv. 3,61E-05 4,07E-09 ND ND ND ND ND ND ND ND 1,17E-07 1,02E-07 9,66E-07 0,00E+00 -7,23E-06 

AP mol H + ekv. 1,02E+01 4,01E-04 ND ND ND ND ND ND ND ND 7,06E-02 1,00E-02 5,79E-01 0,00E+00 -6,18E+00 

EP-freshwater kg P ekv. 1,55E+00 1,30E-05 ND ND ND ND ND ND ND ND 2,55E-04 3,24E-04 2,21E-03 0,00E+00 -7,04E-01 

EP- marine kg N ekv. 2,21E+00 9,66E-05 ND ND ND ND ND ND ND ND 3,28E-02 2,41E-03 2,69E-01 0,00E+00 -1,47E+00 

EP - terrestrial mol N ekv. 2,34E+01 1,04E-03 ND ND ND ND ND ND ND ND 3,60E-01 2,61E-02 2,95E+00 0,00E+00 -1,59E+01 

POCP kg NMVOC ekv. 7,80E+00 6,35E-04 ND ND ND ND ND ND ND ND 1,08E-01 1,59E-02 8,81E-01 0,00E+00 -5,47E+00 

ADP- minerals& 
metals* 

kg Sb ekv. 1,97E-02 6,41E-07 ND ND ND ND ND ND ND ND 2,82E-06 1,60E-05 3,95E-05 0,00E+00 -8,68E-04 

ADP-fosil* MJ 2,70E+04 2,65E+00 ND ND ND ND ND ND ND ND 1,03E+02 6,63E+01 8,55E+02 0,00E+00 -1,84E+04 

WDP* m 3 5,17E+02 1,04E-02 ND ND ND ND ND ND ND ND 2,20E-01 2,61E-01 1,91E+00 0,00E+00 -1,18E+02 

Acronyms 

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global Warming Potential biogenic; GWP-luluc = Global Warming Potential land use and land use change; ODP = 
Depletion potential of the stratospheric ozone layer; AP = Acidification potential, Accumulated Exceedance; EP-freshwater = Eutrophication potential, fraction of nutrients reaching freshwater 
end compartment; EP-marine = Eutrophication potential, fraction of nutrients reaching marine end compartment; EP-terrestrial = Eutrophication potential, Accumulated Exceedance; POCP = 
Formation potential of tropospheric ozone; ADP-minerals&metals = Abiotic depletion potential for non-fossil resources; ADP-fossil = Abiotic depletion for fossil resources potential; WDP = 
Water (user) deprivation potential, deprivation-weighted water consumption 

* Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are high or as there is limited experience with the indicator. 
Disclaimer: If module C is included then when assessing the results of A1-A3, also take into account the results of modules C. 

 



 

 

 11/ 20 

Additional mandatory and voluntary impact category indicators 

Results per functional or declared unit 

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

GWP-GHG1 kg CO 2 ekv. 2,32E+03 1,87E-01 ND ND ND ND ND ND ND ND 7,90E+00 4,67E+00 6,48E+01 0,00E+00 -1,77E+03 

PM 
Disease 

incidence 
1,84E-04 1,40E-08 ND ND ND ND ND ND ND ND 2,01E-06 3,50E-07 1,65E-05 0,00E+00 -1,32E-04 

IRP kBq U235 ekv. 1,24E+02 3,20E-03 ND ND ND ND ND ND ND ND 4,38E-02 8,01E-02 1,14E+00 0,00E+00 -2,00E+01 

ETP- fw CTUe 1,40E+04 3,56E-01 ND ND ND ND ND ND ND ND 5,58E+00 8,90E+00 4,75E+01 0,00E+00 -4,80E+03 

HTP-c CTUh 2,87E-06 3,12E-11 ND ND ND ND ND ND ND ND 8,03E-10 7,79E-10 6,84E-09 0,00E+00 -2,56E-06 

HTP- nc CTUh 1,93E-05 1,67E-09 ND ND ND ND ND ND ND ND 1,26E-08 4,16E-08 1,17E-07 0,00E+00 -4,08E-06 

SQP dimensionless 7,56E+03 1,59E+00 ND ND ND ND ND ND ND ND 6,76E+00 3,98E+01 7,49E+01 0,00E+00 -3,57E+03 

Acronyms 

GWP-GHG = this indicator includes all greenhouse gases except biogenic uptake and emissions of carbon dioxide and biogenic carbon stored in the product; as such the indicator is identical 
to GWP-total except that the CF for biogenic CO 2 is set to zero, PM = Potential incidence of disease due to PM emissions, IRP = Potential Human exposure efficiency relative to U235, ETP-
fw = Potential Comparative Toxic Unit for ecosystems, HTP-c = Potential Comparative Toxic Unit for humans, HTP-nc = Potential Comparative Toxic Unit for humans, SQP = Potential soil 
quality index 

 

 

 

 

 

 

 

 

 

 

Resource use indicators 

 
1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon stored in the product. As such, the indicator is identical to GWP-total except 
that the CF for biogenic CO2 is set to zero. 



 

 

 12/ 20 

Results per functional or declared unit 

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

PERE MJ 2,77E+03 4,39E-02 ND ND ND ND ND ND ND ND 6,48E-01 1,10E+00 1,75E+01 0,00E+00 -3,97E+02 

PERM MJ 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

PERT MJ 2,77E+03 4,39E-02 ND ND ND ND ND ND ND ND 6,48E-01 1,10E+00 1,75E+01 0,00E+00 -3,97E+02 

PENRE MJ 1,91E+04 2,11E-01 ND ND ND ND ND ND ND ND 4,00E+00 5,29E+00 4,48E+01 0,00E+00 -1,55E+04 

PENRM MJ 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

PENRT MJ 1,91E+04 2,11E-01 ND ND ND ND ND ND ND ND 4,00E+00 5,29E+00 4,48E+01 0,00E+00 -1,55E+04 

SM kg 1,50E+02 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

RSF MJ 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

NRSF MJ 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

FW m 3 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Acronyms 

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable primary energy resources used as raw materials; 
PERT = Total use of renewable primary energy resources; PENRE = Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials; 
PENRM = Use of non-renewable primary energy resources used as raw materials; PENRT = Total use of non-renewable primary energy re-sources; SM = Use of secondary material; RSF = 
Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of net fresh water 

 

 

 

 

 

 

 

 



 

 

 13/ 20 

Additional environmental information - Waste indicators 

Results per functional or declared unit 

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Hazardous waste 
disposed 

kg 6,88E-01 6,77E-05 ND ND ND ND ND ND ND ND 0,00E+00 1,69E-03 9,76E-03 0,00E+00 -3,22E-01 

Non-hazardous 
waste disposed 

kg 1,62E+02 1,29E-01 ND ND ND ND ND ND ND ND 0,00E+00 3,23E+00 6,96E-01 0,00E+00 -5,41E+01 

Radioactive waste 
disposed 

kg 2,49E-02 7,90E-07 ND ND ND ND ND ND ND ND 0,00E+00 1,98E-05 2,61E-04 0,00E+00 -4,97E-03 

 

Additional environmental information - Output flow indicators 

Results per functional or declared unit 

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Components for re-
use 

kg 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Material for recycling kg 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 1,00E+03 0,00E+00 0,00E+00 

Materials for energy 
recovery 

kg 7,04E-05 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 5,72E-03 0,00E+00 0,00E+00 

Exported energy, 
electricity 

MJ 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 -1,17E-02 

Exported energy, 
thermal 

MJ 0,00E+00 0,00E+00 ND ND ND ND ND ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 -3,31E-02 

The result tables shall only contain values or the letters “ND” (Not Declared). It is not possible to specify ND for mandatory indicators. ND shall only be used for voluntary parameters that are not quantified 

because no data is available. 

 



 

 

 14/ 20 

Other environmental performance indicators 
--- 

 

Additional environmental information 
--- 

Differences versus previous versions 
This is the first version of the EPD according to EN 15804:2012+A2:2019/AC:2021. 

 

.



 

15/20 

 

ABBREVIATIONS 
 

Abbreviation Definition 

General abbreviations 

EN European standard 

EPD Environmental product declaration 

EF Environmental footprint 

GPI 
General guidelines for the environmental labelling program (in the Czech Republic 

– NPEZ) 

ISO International Organization for Standardization 

LCA Life cycle assessment 

LCI Life cycle inventory analysis 

LCIA Life cycle impact assessment 

DJ / DU Declared unit 

ILCD International Reference Life cycle data system 

PCR Product category rules 

c-PCR Additional rules for product categories 

PRICE European Committee for Standardization 

CPC Central Product Classification (Central Product Classification) 

GHS Globally Harmonized System of Classification and Labelling of Chemicals 

GRI Global Reporting Initiative 

National Undeclared 

Environmental impact indicators (EN 15804) 

Greenhouse gas 
a gas in the atmosphere that absorbs and emits infrared radiation, thereby 

contributing to the warming of the planet (CO 2 , CH 4 , N 2 O and others) 

GWP Global warming potential (kg CO ₂ eq .) 

GWP-fossil Global warming potential from fossil fuels (kg CO ₂ eq .) 

GWP-biogenic Global warming potential from biogenic sources (kg CO ₂ eq .) 

GWP- luluc Global warming potential due to land use and land use change (kg CO ₂ (eq .) 

ODP Stratospheric ozone depletion potential (kg CFC-11 equivalent) 

AP Acidification potential, cumulative exceedance (mol H⁺ (eq .) 

EP Eutrophication potential 

EP-freshwater Freshwater eutrophication potential (kg P eq .) 

EP-seawater Seawater eutrophication potential (kg N eq .) 

EP-soils Land eutrophication potential (mol N eq .) 

POCP Ground-level ozone formation potential (kg NMVOC equivalent) 

ADP Potential for resource/raw material depletion 

ADP - minerals and 

metals 
Potential for depletion of non-fossil resources/raw materials (kg Sb equivalent ) 

ADP-fossil Fossil resource/raw material depletion potential (MJ) 

WDP Water shortage potential (m³) 

Additional environmental impact indicators (EN 15804) 

GWP-GHG 

Global warming potential for greenhouse gases (kg CO ₂ eq .). The indicator 

includes all greenhouse gases except biogenic uptake and emissions of carbon 

dioxide and biogenic carbon stored in the product; as such, the indicator is 

identical to GWP- total except that the CF for biogenic CO2 is set to zero. 



 

16/20 

 

Abbreviation Definition 

PM Potential incidence of diseases due to particulate matter emissions 

IRP Potential effect of human exposure to the isotope U235 

ETP- fw Potential toxicity benchmark for ecosystems 

HTP-c Potential human toxicity comparator – carcinogenic effects 

HTP- oc Potential human toxicity comparator - non-carcinogenic effects 

SQP Potential Soil Quality Index 

Resource utilization indicators 

PERE Renewable primary energy consumption excluding energy sources used as raw 

materials (MJ) 

PERM Consumption of renewable primary energy sources used as raw materials (MJ) 

PERT Total consumption of renewable primary energy sources (primary energy and 

primary energy sources used as raw materials) (MJ) 

PENRE Consumption of non-renewable primary energy excluding energy sources used as 

raw materials (MJ) 

PENRM Consumption of non-renewable primary energy sources used as raw materials 

(MJ) 

PENRT Total consumption of non-renewable primary energy sources (primary energy and 

primary energy sources used as raw materials) (MJ) 

SM Consumption of secondary raw materials (kg) 

RSF Consumption of renewable secondary fuels (MJ) 

NRSF Consumption of non-renewable secondary fuels (MJ) 

FW Net drinking water consumption (m³) 

Waste indicators 

HWD Hazardous waste removed (kg) 

NHWD Other waste removed (kg) 

RWD Radioactive waste removed (kg) 

Output flow indicators 

CRU Reusable building elements (kg) 

MR Materials to be recycled (kg) 

MER Materials for energy recovery (kg) 

EEE Exported energy, electricity (MJ) 

EET Exported thermal energy (MJ) 

Lifecycle phases/modules 

A1 
Mining and processing of raw materials, processing of input secondary raw 

materials 

A2 Transport to the manufacturer 

A3 Production 

A4 Transport to the construction site 

A5 Installation in a building 

B1 Use or application of the installed product 

B2 Maintenance 

B3 Repair 

B4 Exchange 

B5 Reconstruction 

B6 Operating energy consumption 



 

17/20 

 

Abbreviation Definition 

B7 Operating water consumption 

C1 Deconstruction / Demolition 

C2 Transportation to the waste processing site 

C3 Waste treatment for reuse, recovery and/or recycling 

C4 Removal 

D Reuse, recovery and recycling potential 

Other relevant terms 

Substances of Very High 

Concern (SVHC) 
Substances of very high concern 

CAS number 
An internationally recognized unique numerical code used in chemistry for 

chemical substances 

CF Characterization factor 

RSL Reference life span 

MJ Megajoule 

kg Kilogram 

m³ Cubic meter 

NMVOC methane volatile organic compounds 

Sat eq . Antimony equivalents 

P eq . Phosphorus equivalents 

Not equal . Nitrogen equivalents 

Equivalent to CFC-11 Chlorofluorocarbon-11 equivalents 

CO ₂ equivalent Carbon dioxide equivalents 

kg C Kilograms of carbon 

kg CO₂ eq . Kilograms of carbon dioxide equivalent 

OTE OTE, as (in the Czech Republic) – energy market operator 

  

 

 

 

 

 

  



 

18/20 

 

References 
 

EN ISO 14025:2010 Environmental labels and declarations - Type III environmental declarations - 

Principles and procedures 

EN 15804:2012+A2:2019/AC:2021 Sustainability of construction works - Environmental product 

declarations - Core rules for the product category of construction products 

EN ISO 14040:2006 Environmental management - Life Cycle Assessment - Principles and Framework 

EN ISO 14044:2006 Environmental management - Life Cycle Assessment – Requirements and 

guidelines 

EN ISO 14063:2020 Environmental management - Environmental communication - Guidelines and 

examples 

EN 15643:2021 Sustainability of construction works - Framework for assessment of buildings and civil 

engineering works 

EN 15941:2024 Sustainability of construction works - Data quality for environmental assessment of 

products and construction work - Selection and use of data 

EN 15942:2021 Sustainability of construction works - Environmental product declarations - 

Communication format business-to-business 

EN 17672:2022 Sustainability of construction works - Environmental product declarations - Horizontal 

rules for business-to-consumer communication 

EN 16908:2017+A1:2022 Cement and building lime - Environmental product declarations - Product 

category rules complementary to EN 15804 

EN 16449:2014 Wood and wood-based products - Calculation of the biogenic carbon content of wood 

and conversion to carbon dioxide 

ILCD General guide for Life Cycle Assessment (2010) - JRC EU 

Directive 2008/98/EC of the European Parliament and of the Council of 19 November 2008 on waste 

and repealing certain Directives; CZ - Act No. 541/2020 Coll., as amended (Waste Act) 

Decree No. 8/2021 Coll. Waste catalogue – Waste catalogue 

Regulation (EC) No 1907/2006 of the European Parliament concerning the Registration, Evaluation, 

Authorisation and Restriction of Chemicals (REACH) and establishing a European Chemicals Agency - 

REACH (Registration, Evaluation and Authorisation of Chemicals 

Regulation (EC) No 1272/2008 of the European Parliament and of the Council of 16 December 2008 on 

classification, labelling and packaging of substances and mixtures, amending and repealing Directives 

67/548/EEC and 1999/45/EC, and amending Regulation (EC) No 1907/2006 

SimaPro LCA Package, Pré Consultants, the Netherlands, www.pre-sustainability.com 

Ecoinvent Centre, www.Ecoinvent.org 

EU PEF (EF reference package) - https://eplca.jrc.ec.europa.eu/LCDN/EN15804.html 

Explanatory documents are available from the head of Technical Support of the EPD owner. 

 

  

https://eplca.jrc.ec.europa.eu/uploads/ILCD-Handbook-General-guide-for-LCA-DETAILED-GUIDANCE-12March2010-ISBN-fin-v1.0-EN.pdf
http://www.pre-sustainability.com/
http://www.ecoinvent.org/


 

19/20 

 

a) Note: If the CSN EN 15804 standard is not used as the PCR, it is necessary to state the basic 

valid PCR according to which the EPD was processed.. 

Independent verification of declarations and data in accordance with ČSN ISO 14025:2010 

CEN standard EN 15804 serves as the Core Product) Category Rules (PCR) 

☐ internal ☒ external 

Third-party verifier b: 

Elektrotechnický zkušební ústav, s. p.  

Pod lisem 129/2, Troja, 182 00 Praha 8  

Česká republika 

 

 

 

 

 

Mgr. Miroslav Sedláček 

Vedoucí certifikačního orgánu 

Certification body No. 3018 for EPD verification, accredited by the Czech Accreditation Institute, 

o.p.s. 
a Product category rules 
b Optional for business-to-business communication, mandatory for business-to-consumer 

communication (see ISO 14025:2006, clause 9.4). 

This document is a translation of the EPD issued in Czech.in cause of doubt use the Czech version of 

this EPD as a reference. 

 

Organization:  

VÍTKOVICE 

STEEL, a. s. 

Českobratrská 

3321/46 

702 00 

Ostrava - 

Moravská 

Ostrava, CZ 

Tel: +420 736 132 844 

Email: 

gabriela.dylova@vitkovicesteel.commailto:info@korado.cz, 

Web: https://www.vitkovicesteel.com/ 

 

Programme 

holder: 

Ministerstvo 

životního 

prostředí ČR  

Vršovická 

1442/65 

100 10 Praha 

10, CZ 

Tel: +420 267 225 226 

Email: info@mzp.cz 

 

Web: https: www.mzp.cz 

 

LCA prepared 

by:  

Technický a 

zkušební 

ústav 

stavební 

Praha, s.p.  

branch Plzeň 

Zahradní 15 

326 00 Plzeň, 

CZ 

Tel. : +420 734 432 137 

+420 602 185 785 

vrbova@tzus.cz 

 

trinner@tzus.cz 

Web: https: www.tzus.cz 

mailto:gabriela.dylova@vitkovicesteel.com
mailto:info@korado.cz
mailto:info@mpz.cz
http://www.mzp.cz/
mailto:vrbova@tzus.cz
mailto:trinner@tzus.cz
http://www.tzus.cz/


 

20/20 

 

 

 

 

 

 


		2025-09-18T13:48:46+0200




